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Intro

Today we will 7"va learn 7197 of 1210 'OB

Some of the topics we will learn about include the follow-
ing:

How many trumpet blasts were sounded on the naw 17y of
m2o? And where were they sounded?

The trumpet blasts sounded for the Korban Mussaf -

Adding a day to the calendar -

Some of the key terms and concepts we will learn about
include:

w1 NI - Sometimes, when the o°Xin give examples they
do not list every example. When this happens, more than
one item must be left off the list in order to justify 77w Rin

The months of the lunar calendar usually contain either 29
or 30 days. Elul usually has 29 days. However, if it was
determined that m>© 279 will come out on naw 19, which
would make Y om Kippur on Sunday, they would make
Elul 30 days to push everything up one day.

DR 1IN PTMIPRY 770 - When presented with two
actions and one of them 1s more common than the other,
the more common action takes precedence over the less
common action

How many trumpet blasts
were sounded on NI 27D of MOD?
And WHERE were they sounded?”

The trumpet blasts sounded for
the 9D 127

Adding a DAY
to the calendar

W NIN

515N usually has 29 days
However, % it was determined
that ris10 >3y will M o n>l 7Y
they would make Flul 30 days
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So let's review...

The X2 explains that which the n1wn», on the previous Daf,
said;

TINWI DYIIR OV VAN PNIW NAW 27D

On Friday that fell during Sukkos, there were 48 my’pn, as
follows:

oW nnob wHw

Three for opening the gates, as every day -

5vn w5 whHw - Three my'pn at the Upper Gate

PAnnn w5 wHw - Three my'pn at the Lower Gate

opn b whwr - Three my’pn when bringing the water in
through the o' W

n2m5 23 5y wHwy - And three my’pn when they encircled the

On Friday during m>o,
there were 48 my’pn

DMYY NNMNDS wHw

3 —  for opening the gates
POV WWD whw
3 - at the Upper Gate

PRNNN WD whw
3 - at the Lower Gate

Mizbeiach with the ma7y These 12 were

These 12 were on Sukkos only, as detailed in the earlier I M[?, DN nbﬂ’)b whw)
Mishnayos. o 3 —  when bringing the water
Plus -

W Sw NS ywn

D371 P2 5w Tnd yom
PoOmS VWM

TOROD 1 DYA IR 2075 WHw
S wNR P2y TAnd whw

For atotal of 48 -

The X m3 says the 3 my’pn on the tenth step, mentioned the
previous mwn, are not mentioned in this m1wn, because it
follows the opinion of 2pY’ 12 15X '3 who taught in a Rn»72
that mamnn *23 Sy wHY, there were three blasts next to the mam,
and none on the tenth step.

NaT» 123 by wHw

3 —  when they encircled the N2y

with the ) 4
9 - MW bw Tond LY
9 - DWW THRd LYN)
9 - PODIND LY
3~ DIRDDN D DY DR MDD WHY
Snd wTip p2 »7and wHw)

/'3;

48

The 3 mv¥pn
on the tenth step,
are NOT mentioned ’
in this NJwn
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The xn>12 explains

YWY OIS IR

1IN A"y INRIPR

MR A"V IR

YWY TOYH? MWIN IR

The 327 of that Mishnah who say that 3 my’»n were blown on
the tenth step, hold that there were no my’pn at the nam, and
2P’ 12 MHX who says there were 3 mypn at the 2, holds
there were no my’pn on the tenth step.

The X3 explains 3P 12 75X 'V's opinion.

DYW NPnob YpnT

PRI D Y movnd

NI IWW IRD R}

Since they blew at the opening of the gates, it is not necessary to
blow again at the tenth step, since it is not a gate.

PIV NANDANY -

Blowing at the nam is preferred.

The 127 disagree and say;

DRI NPPS VPIT I

PhyispRaniisn P

Since they blew at the o'»i1 7pw when they brought the water,
there is no need to blow at the nam, and

PIV YWY VNS -

Blowing on the tenth step is preferred.

The X2 discusses the trumpet blasts that accompany the j27p
qom.

A rn”711s quoted by X137 92 XAR 9, that in the Posuk
MIXIZAIWPIY D377 IR I

And the sons of Aharon, the Kohanim, shall blow the trumpets.
WP is extra because another Posuk;

D5W M1 Y DY HY MAIRIZNA DNYRM

Already teaches that they shall blow the trumpets?

The repetition teaches

QoM oM 92 SV PYpinw

We blow the trumpets for each and every Mussaf.

However, this is challenged from our 73wn» that says 48 my’pn
were sounded on the Friday during m>o, and that was the
largest number of my’pn in one day.

According to Xnx '3, there would be 51 on the naw of Mmoo,
because there are two Mussafim - Shabbos and Sukkos.
Therefore, to the 48, we must add 9 for the second Mussaf, while
we deduct 6 of Erev Shabbos, for a net gain of three.

DafHachaim.org

AP
AR FOPRS MmN
FISTIANT 7D N AN

FISNAM 37 MW
AR PR M 0N

PV fp 7/(}/'/ K] I
THE X713 EXPLAINS DISAGREE & SAY
DWONPNOOYPRTI DAY VPRT
P07 H b ywy moynd DS A Y
R IDW IR N7 And
Since it wndt wgate:  \PTY MTVOPITON
197V NN Y

Trumpet blasts that accompany the 9D )2)...

An?IP
NIIA 2 NAN T
Anather proc
TMNRIETS DnpRPm
oY ol
Doty vt in
Already teaches
they shall blow
the trumpets?

In one 100
j=fdh bu i ‘F'\HN »§=
TR PR

is EXTRA

lg & //}7)0)@
oy Gon!

e

Our mwn says 48 my’pn were
the largest number of my’pn in one day

/fccor/m;/ to grt . - -

There would be 51 on
the mw of nop?
Because there are 2 proo

We add 9 for the 2nd DD,
while we deduct 6 of N2w 27,
for a net gain of 3
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Rt answered

Nawa 0w NPNS% PYMn PRY

We do not blast the trumpets when the gates are opened on naw,
which eliminates three my’pn - therefore, we're back to 48.

N17 disagrees with X1 '7's answer for two reasons.

First, the mywn said ov 503, ‘every day’ there were 21 blasts -
which indicates that the oW nPnob wHw were blown even on
naw.

Secondly, even if the number of my’pn on this n1w were equal
to the number of my’pn on Friday, the miwn should have used
the case of naw to teach two owIT'M;

-1- That the nywn is stating the opinion of 29’ 12 7MY5R ' that
there were three my’pn at the nam,

-2- That the Mishnah holds like Xnx "3 that each Mussaf requires
its own mypn.

Using Friday as the example of 48 blasts only teaches one w17'n,
that the mawn is the opinion of 2Py’ 12 /YHR .

Therefore, X217 answers: The Mishnah does not use Shabbos of
Sukkos because,

nawa on o nd PYRIN PRY -

We do not blow the my’pn of onn o2, because we do not draw
the water on naw - which reduces the number of blasts by 12 to
39,

DafHachaim.org

N29 2 NIt 9
5L //;7)[/) /',ég
the ?/f/\/ said pr 5o, nal> Yl APNO:
which indicates that
/017}/€ /)ﬁ’/)d/éﬁ
WERBE even om »ot?

21d
% the AV O this >l
were FOUAL to the
/)/}’7)» on 7r f/ﬁy’
The nown should ve
used the case of P2W
to teach 2 DwiTN?

1 2
The opinion of The ndwn holds
2PV )2 ITON M like NDN
that there were  each 9D requires
3 mvpn at the N2ty its own MYPN

W%om, Lo andwersy;
The mwn does NOT use
naw of Mmoo because,

Loalls p 11 ppL R~ 2

Which reduces the
number of blasts by 12 to 39
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The X points out another example of 48 my’pn:
mwn wR that fell on naw -

21 my’pn of every day -

27 my’pn of the three Mussafim brought that day -
1777 9o

1’37 qom

NawT oM

Another example of 48 my’pn -

noon 27V - according to the 1317 -

21 my’pn of every day -

27 my’pn of the Hallel of noon nonw

For a total of 48 -

Rashi explains:

The noo 129p was brought in three min> - three groups.

Each group recited Hallel three times - although the third group
did not complete the THIRD Hallel. Before each Hallel, they
blew 3 mypn.

Each group=3x3=9

3 Groups = 3x 9 =27 my’pn of Hallel

OR -

no971 29Y which falls on naw 29 - according to N 27 -

21 my’pn of every day -

21 mypn of the Hallel of moon nonw

6 mypn of naw 17y

Rashi explains:

R’ Yehuda holds that the third group did not even complete the
FIRST Hallel. Therefore, we have the

First two groups =3x3=9x2=18-

Plus, the third group = 3 my’pn - which is 21 my’pn of Hallel

DafHachaim.org

Another example of 48 mvp...
NIWN WNY that fell on naw

22 g of every Aoy
2 7/)/}/7’)/) Of 3 proop
48 IV WRIT GO «

WTINWRIT QO <«
DIVT 901 <«

Another example of 48 mvp...

[o97 39Y
According to the 1327
27 AV o% every o/a?/
27 Y% ofﬁ 0% oD _rinl
48
(Z3)

> NDD )2 was brought in 3 MN>
> Each group recited 55n 3 times
ALTHOUGH THE 3RD GROUP
DID NOT COMPLETE THE 9577

Ea,cé/g/fou/zz=3/03 =9
3 Groupy = 309 =27

OR...
097 29V which falls
on 1AW 29V
according to 7 27
27 AV o% every /a?/
21 AV 0%5 of PoOD_NENE
éﬁ/}/;’)/) opral 23y

———

48 s

The 3rd group did not even
complete the FIRST 55n
First two groups: 303 = 902 = 18
Plus, the third group: 3 o1y
which totals 21 _nryps
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The X1 continues to discuss the maximum number of trumpet
blasts. The mwmn said 48 is the maximum.

The x>y asks that if noo 17y fell on naw there would be 51
according to 1M ', and 57 according to the j319, because we
must add the nine my’pn of the Korban Mussaf.

The X3 answers that the n3wn only teaches cases that happens
in all years, and not cases that do not happen in all years.

The X2 challenges this answer, if only cases that happen - all
years - is a prerequisite of the nwn, then the case of naw 17y

3nn pnaw should also be excluded from the mwn, for it also does
not happen all years, since in a year when the FIRST day of
mo falls on naw 17, the following naw 27 would no longer
be Mmoo and there would not be any naRwna n°a nnnw as w7
explains - it would actually coincide with naxy rpw.

The ndwy said 48 is the maximum. ..
>

if 09 29D fell on NAW
there would be. . .

51 57

according to according to

A 1329

Because we must add WINE »yn»
0% the Qa//a/ po9p!

The nown only teaches cases
that happens in ALL years

2

If ONLY cases that happen ALL YEARS

is a prerequisite of the mwmn

The case of
hintaluigini’d gl gnin)d
should also be excluded!

Since ina .
When the FIRST day of mdiD
falls on 2w 27,
the following N2w 27D
would coincide with NIND 2HW!
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' The X2 says this is not a question because when they see that
the first day of m>o will fall on naw 27y, which means 719> o»
would be on the Sunday before Mo, they add a day to Elul and T . g ,
delay everything one day. We do not want 719’ 0y on Sunday, When Hlé.}/ Which Then add
because anyone who died on naw would remain unburied until see.. means... — aday...

1#* Day [
kphimiiv) MDD

after nooov.

p—rt
gge; SUNDAY|
One who 6/&6&/ ol

woidd remain awnburied
wntil a%z‘er 2> pI

However, the X913 questions this. We learned in a mwn» and a
Rn92 that m19°0 ov could fall on Sunday.

We learned in a
. gé/\/ and @ Anrrap

N5 DY
COULD fall on Sunday?

The R resolves this and says that our mwn is the opinion of
the 13129 who say that we add a day to Elul to prevent this from
happening, but the m1w» and Xn»72 are the opinion of 07X who

do not allow adding a day to the calendar. This is proven from OUR 7IW1n OTHER WD & RN”71

their opinion in a Xn»72 that [t=a) 2NN

NIZY5 NIRY PIAPR

mlgﬂ R 0N u;m PAPNI ADD a day DON'T add a day

7252071 VAN RON

VRN NI2IWH MW 707 DR to SN to 15N

The only difference between Shavuos of one year and the next,

or between Rosh Hashana of one year and the next, is four days, AP

orin aleap year, five days. Next year’'s Rosh Hashana will R Ry AP

always be four days later than this year’s Rosh Hashana. If et arhi ol P3P

DR permitted adjustments in the calendar, it would not - b

always be a four day difference. J373 Q2" AIPATN KON

z==z===== APIRR N2 MY AR aNY
% ok Mmdfe/ WMM

‘ it would not a&ua?a/ be

a4 /a?/ /%Zerenw
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WA A
. The X presents another challenge to Xnx 7. We learned in a
xn3 that Another challenge to NDR ...
w2 Nk Hnw wIn wRa
Y S YW AMT WA WRI W PO >
When Rosh Chodesh falls on Shabbos, the song for Rosh ®
Chodesh pushes off the song for Shabbos. If XX "11is correct, D e
that separate trumpet blasts were sounded for each Mussaf, both naYs 1'\1’-'[‘7 bﬂw v NS

songs should be recited during the respective Mussaf.

WM N DY

naw S M A

IF SEPARATE TRUMPET BLASTS
WERE SOUNDED FOR EACH 901D,

BOTH songs should be recited
during the respective 9D ?
O

X790 17 explains that 7m7, pushes off, only means that it comes
first, but both are recited. The X3 asks why Rosh Chodesh

comes first. After all, sﬁbo :ﬁ
DTIP 7D PINIPRWI PIN
‘ That which is more common - Shabbos - takes precedence over T only means
that which is less common - Rosh Chodesh. .
130 7 answers that they did this that it comes FIRST

DT WIN WRI VAPV YTD Osp 0>
To publicize that Rosh Chodesh was declared at the proper time

e

,?/o;y/') 22N V2N y’l’g/ 22N

1A
They did this;
Wsp Gon G yapral ys/
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